DEPARTMENTAL BUDGET 2024-25

All the heads of the department are requested to note the amount allotted to their department in the proposed budget for the session 2024-25

Laboratory Fees Collected During the Session 2024-2025

Sr. No.	No. of Students	At the rate Rs.	Total
B.Sc.	320 (I)	1237	395840
Excluding Biotech	578 (II+III)	1156	668168
	VALUE OF THE STATE	24 1	
		Total	10644008

Departmentwise allotment for the session 2024-25

Sr.No.	Department	No. of students	@300	Amount
1	Physics	265	300	79500
2	Chemistry	385	300	115500
3	Botany	174	300	52200
4	Zoology	164	300	49200
5	Microbiology	98	300	29400
6	Electronics	84	300	25200
7	Geology 🦃	97	300	29100
8	Computer Science	225	300	67500
9	Statistics	76	300	22800
10	Mathematics		r" spik	10000
11	Language	0		10000
12	Reserve fund	2 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1	573608
	* * * * * * * * * * * * * * * * * * *	1 pr 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	\$	
	Grand Total	1568	1 884	1064008

SEAL Seguritors

Principal
S.S.E.S. Amravati's Science College,
Congress Nagar, Nagpur

DEPARTMENTAL BUDGET 2023-24

All the heads of the department are requested to note the amount allotted to their department in the proposed budget for the session 2023-24

Laboratory Fees Collected During the Session 2023-2024

Sr. No.	No. of Students	Fees collected at the rate Rs.	Total
B.Sc. Excluding Biotech	1136	1191	1352976
4		Total	1352976

Departmentwise allotment for the session 2023-24

Sr.No.	Department	No. of students	@300	Amount
1	Physics	333	300	99900
2	Chemistry	526	300	157800
3	Botany	238	300	71400
4	Zoology	230	300	69000
5	Microbiology	133	300	39900
6	Electronics	117	300	35100
7	Geology	139	300	41700
8	Computer Science	284	300	85200
9	Statistics	89	300	26700
10	Mathematics	3 / A	1 181	10000
11	Language	0		10000
12	Reserve fund	18		706276
	i i i i i i i i i i i i i i i i i i i			
	Grand Total	2089	7	1352976

SEAL SONGERS NAGARIANTE NAGARIANT

S.S.E.S. Amravati's Science College, Congress Nagar, Nagpur

DEPARTMENTAL BUDGET 2022-23

All the heads of the department are requested to note the amount allotted to their department in the proposed budget for the session 2022-23

Laboratory Fees Collected During the Session 2022-2023

Sr. No.	No. of Students	Fees collected at the rate Rs.	Total
B.Sc. Excluding Biotech	1366	900	1229400
		Total	4000400
		Total	1229400

Department wise allotment for the session 2022-23

	The session 2022-23				
Sr.No.	Department	No. of students	@300	Amount	
1	Physics	336	300	COLUMN TO A STATE OF THE PARTY	
2	Chemistry	526	300	157800	
3	Botany	237	300	71100	
4	Zoology	215	300	64500	
5	Microbiology	143	300	42900	
6	Electronics	107	300	32100	
7	Geology	139	300	41700	
8	Computer Science	284	300	85200	
9	Statistics	89	300	26700	
10	Mathematics	00	300		
11	Language	0		10000	
12	Reserve fund	0		10000	
				687400	
	Grand Total	1			
	Cland Total			1229400	

SEAL SEAL

Principal
S.S.E.S. Amravati's Science College,
Congress Nagar, Nagpur

DEPARTMENTAL BUDGET 2021-22

All the heads of the department are requested to note the amount allotted to their department in the proposed budget for the session 2021-22

Laboratory Fees Collected During the Session 2021-2022

Sr. No.	No. of Students	Fees collected at the rate Rs.	Total
B.Sc. Excluding Biotech	1377	450	619650
	73.5	17.2	
		Total	619650

Departmentwise allotment for the session 2021-22

Sr.No.	Department	No. of students	@200	Amount
1	Physics	364	200	72800
2	Chemistry	524	200	104800
3	Botany	233	200	46600
4	Zoology	192	200	38400
5	Microbiology	133	200	26600
6	Electronics	125	200	25000
7	Geology	139	200	27800
8	Computer Science	277	200	55400
9	Statistics	84	200	16800
10	Mathematics	2	100 T	10000
11	Language	0	· · · · · · · · · · · · · · · · · · ·	10000
12	Reserve fund	,a 40	1 1/2	185450
	\ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \	7 (1 1	
	Grand Total	1 00	y · · · · · · · · · ·	619650

SEAL STANGER

Principal ' S.S.E.S. Amravati's Science College, Congress Nagar, Nagpur

DEPARTMENTAL BUDGET 2020-21

All the heads of the department are requested to note the amount allotted to their department in the proposed budget for the session 2020-21

Laboratory Fees Collected During the Session 2020-21

Sr. No.	No. of Students	Fees collected at the rate Rs.	Total
B.Sc. Excluding Biotech	1448	900	1303200
* r		- 1.1 m	"
Q _a		Total	1303200

Departmentwise allotment for the session 2020-21

Sr.No.	Department	No. of students	@300	Amount
1	Physics	362	300	108600
2	Chemistry	537	300	161100
3	Botany	243	300	72900
4	Zoology	182	300	54600
5	Microbiology	128	300	38400
6	Electronics	117	300	35100
7	Geology	170	300	51000
8	Computer Science	266	300	79800
9	Statistics	83	300	24900
10	Mathematics	1 70	000	10000
11	Language	0	1.3	
12	Reserve fund	1875	2 20 2 27	10000
		1,121	1	656800
	Grand Total	2088		1202000
1303200				

S.E.S. Amravati's Science College, Congress Nagar, Nagpur

DEPARTMENTAL BUDGET 2019-20

All the heads of the department are requested to note the amount allotted to their department in the proposed budget for the session 2019-20

Laboratory Fees Collected During the Session 2019-2020

Sr. No.	No. of Students	Fees collected at the rate Rs.	Total
B.Sc. Excluding Biotech	1289	900	1160100
	- John Ville	7 - X - 1 - 1 - 1 - 1 - 1	, A
	to the second	Total	1160100

Department wise allotment for the Session 2019-20

Sr.No.	Department	No. of students	@300	Amount
1	Physics	452	300	135600
2	Chemistry	646	300	193800
3	Botany	286	300	85800
4	Zoology	224	300	67200
5	Microbiology	159	300	47700
6	Electronics	143	300	42900
7	Geology	191	300	57300
8	Computer Science	328	300	98400
9	Statistics	95	300	28500
10	Mathematics	1		10000
11	Language	0	ter this y	10000
12	Reserve fund		1 10 10	382900
ļ ₂	1		11	, 1,
	Grand Total	2524	1	1160100

SEAL NO SEAL N

S.S.E.S. Amravati's Science College, Congress Nagar, Nagpur